BX—IK1 (A4BEHK)

THM7F3A%

ALSATERAKE (RBEAE) KEARERBEE (Em)

HRKEERE 9:00

KERBRBER ERFKE BKHF RK )
B XE | KB | KB |& E| pH [ZILAY BEE | &% [EtY| &% 8 s &
E BEM| 1A Hy
°C °C = mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 i 13.0 11.1 5.7 7.62
2 i 14.50 11.7 9.8/ 7.55
3 [55) 1.5 11.1 5.5 7.56] 55.9] 72.2 139 9.7 0.14] 0.04
4 = 5.5 9.5/ 106.3| 7.54
5 [55] 6.9 1.1 28.5| 7.50
6 = 9.8 8.5 11.9] 7.59
7 iE 8.8 9.4 9.0/ 7.67
8 = 6.0 9.4 6.8 7.61
9 & 8.3 8.6 6.0 7.57
10 & 10.0{ 11.1 5.2 1.1
11 = 11.0[ 11.5 4.4 7.63
12 = 13.0 11.6 5.8/ 7.61
13 = 15.8| 12.6 6.5/ 7.63
14 i 14.00 14.0 5.6/ 7.70
15 = 10.0[ 13.0 5.2| 7.59
16 [55] 6.3 9.6 5.3 7.58
17 iE 1.2 10.0 14.1 7.65] 49.3] 62.8 131 7.1 0.31] <0.02
18 = 8.8/ 11.3 8.7 1.70
19 & 11.0{ 10.2 5.9 17.75
20 & 8.0/ 10.1 10.8/ 7.70
21 & 10.0] 11.4 1.2 1.79
22 & 13.00 12.9 6.3| 7.84
23 & 18.0 13.4 3.9 7.73
24 = 16.8] 14.1 5.5 7.81
25 & 12.0{ 13.6 5.2 1.72
26 & 21.5| 16.0 5.0/ 7.65
217 i 19.8| 15.0 5.7 7.54
28 i 19.5| 15.4 5.7 7.65
29 [55] 12.0{ 15.6 12.7 7.54
30 i 10.5| 12.5 11.6| 7.67
31 = 9.0/ 12.0 7.1 7.50
Ty 11.8 | 11.7 1.1 7.64 | 52.6 | 67.5 135 8.4 0.23| 0.02
&= 21.5| 16.0 | 106.3 | 7.84 | 55.9 | 72.2 139 9.7| 0.31] 0.04
=IE 5.5 1.1 3.9 7.50 | 49.3 | 62.8 131 7.1 0.14 | <0.02




FRX—TIK1 (A 4R

THM7E3AH

SLEATERKE (REAE)

KEHBREREEE (EF)

FRKEER 9:00

KEBHRBRKER (BERHBKE Bt GRK) )
B XE | [B | KEB|E&E E| pH [FILAY BEBE | &% (B % £ 5 =
E REM| 1A HY
°C °C = mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 i 13.0 10. 6 3.4 1.4
2 i 14.5 11.4 2.6 7.36
3 [55] 11.5 11.9 2.8/ 7.38) 51.3] 72.3 137 9.9 0.05] <0.02
4 £ 5.5 11.5 3.4/ 7.40
5 [55] 6.9 9.2 2.4 1.4
6 £ 9.8 8.2 2.4 7.30
7 i 8.8 9.2 1.7] 17.36
8 £ 6.0 9.1 1.7 17.34
9 i 8.3 9.2 1.6] 7.35
10 i 10.0 9.4 2.1 7.39
11 £ 11.0 10.8 1.6 7.46
12 £ 13.0 11.6 2.4 7.52
13 £ 15.8 12.1 2.2 7.45
14 i 14.0 13.0 2.5 7.52
15 £ 10.0 12.8 2.7 7.46
16 [55] 6.3 11.8 1.8 1.41
17 i 11.2 10.9 1.7 7.50| 47.5| 70.9 130 8.4/ 0.04| <0.02
18 £ 8.8 10.8 3.1 7.65
19 i 11.0 10.5 1.8/ 17.50
20 i 8.0 11.1 1.9] 7.62
21 i 10.0 10. 1 3.3] 7.55
22 i 13.0 11.3 2.1 7.58
23 i 18.0 12.4 2.0 7.57
24 £ 16.8 13.0 2.1 7.65
25 i 12.0 13.5 2.5 7.50
26 i 21.5 14.5 1.9 17.52
217 i 19.8 14.8 1.7 17.43
28 i 19.5 15.2 2.8 7.42
29 [55] 12.0 14.9 2.5 7.52
30 i 10.5 15.1 1.9] 7.36
31 £ 9.0 12.9 2.00 7.24
1y 11.8 | 11.7 2.3 | 7.46 | 49.4 | 71.6 134 9.2 0.05 | <0.02
=& 21.5 | 15.2 3.4 | 7.65 | 51.3 | 72.3 137 9.9 0.05 | <0.02
=IE 5.5 8.2 1.6 | 7.24 | 47.5| 70.9 130 8.4 0.04 | <0.02




